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Christmas Worksheet 13 £ 3
@ CRACKER EQUATIONS
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Can you match the left hand side of each cracker with the right hand side that has the same solution?

I2x+1=7 6-x=5

90-17x=35

2x =30

xt+2=1
10-x=3
2x=10

10-x=3

11-x=2
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19 +x=27 19 +x=22

u
60 -x=40
x=6
3x-8=10

This is a free sample of a worksheet available in the Not Just Sums Christmas resource pack 2. For
further sample resources (including interactive games) and information about purchasing the full pack

for just £10 or two packs for £16, please visit www.notjustsums.com or email
admin@notjustsums.com with your query.




